Gena/P-11/21/UGB/GEO

2021
GEOGRAPHY (GENERAL)

Fifth Paper (V-A & V-B)
B.A. Part-11 (Theory)

Full Marks: 50 Time: Two Hours

Economic Geography
Answer all questions
The figures in the margin indicate full marks.
Paper V-A / Section- I (MCQ)

15 Marks 30 Minutes

Which one is not included as agricultural activity among the following options?
(A) Food processing

(B) Floriculture

(C) Horticulture

(D) Cattle-rearing

What is the position of Sri Lanka (2011) in global tea production?
(A) First

(B) Second

(C) Fourth

(D) Third

Which kind of economic activity it indicates: ‘when resources are extracted
directly from nature’?

(A) Quinary

(B) Primary

(C) Secondary

(D) Quaternary

What is the acquired rank of India (2011) in global paddy production?
(A) Second

(B) First

(C) Fourth

(D) Third

Which one is the largest and prime readymade garments manufacturing centre
of India?

(A) Gurugaon

(B) Bangalore
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10.

11.

12.

(C) Mumbai
(D) Tirupur

Which of the following factor is not directly influencing the location of
industry?

(A) Land

(B) Raw material

(C) Foreign investment

(D) Market

Which of the following is the kind of tertiary economic activity?
(A) Agriculture and mining

(B) Business and trade

(C) Industry

(D) None of the above

Which of the following is regarded as non-renewable resource--
(A) Human resource

(B) Solar power

(C) Hydro-electricity

(D) Coal and petroleum

Which one of the iron & steel industry is established before India’s
independence?

(A) Jamsedpur

(B) Villay

(C) Borako

(D) Durgapur

The crops especially grown in winter season under ‘Monsoon Climatic Region’
is called as--

(A) “‘Kharif’

(B) ‘Bagicha’

(C) ‘Rabi’

(D) All are correct

The poorest kind of quality of coal is known as—
(A) Lignite

(B) Peat

(C) Bituminous

(D) Anthracite.

Which of the following is not a process of resource conservation-
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(A) Reuse

(B) Recycle
(C) Reduce
(D) Restore

13.  Which one of the following climatic region of the world where mixed farming
has been developed?
A) Temperate Region
B) Humid Tropical region
C) Dry tropical region
D) Cold region.
14.  What is the global share of Saudi Arabia in crude oil production?
(A) 13.29
(B) 35.32
(C) 21.67
(D) 26.27
15.  Select the country having lowest average percentage of forested land.
(A) Australia
(B) South Korea
(C) Republic of South Africa
(D) China
Paper V-B / Section- 11 (Descriptive)
The figures in the margin indicate full marks.
Full Marks 35 Time 90 Minutes
Answer any two questions. 10x2=20
1. Discuss in details about the major sector of economy (Primary, 6+4=10
Secondary and Tertiary) with suitable examples. Write a short note on
causes of depletion of forest.
2. Explain about the worldwide distribution and production of coal. 10
3. Discuss the recent problems and prospects cotton textile industries with 10
special reference to Indian context.
4, Describe the major natural and manmade suitable factors favourable 10

for growing of ‘tea’ as plantation crop.
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Paper V-B / Section- 11 (Descriptive)
The figures in the margin indicate full marks.

Answer any three questions.
Briefly explain the agro-forestry.
Distinguish between ‘Protected Forest” and ‘Reserve Forest’
Shortly describe the role transport in case of location of any industry.
Briefly explain the modern means of forest conservation.
What are the merits of household basis production and use of bio-gas?
Write a short note on commercial grazing.

(Translated Version)
Section- 1 (MCQ)
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Section 11
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